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01 A& dI 1,162,800 626, 100 536,700
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401 AIEHIZ 2 I 688,571 255,000 433,571
482,000
102,430
104,141

= W
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SA: BISTAIA
3 BAIZAY 2R (BBEBS/M0E - +E)
Sol: BAIZAL A& EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 814,286 0 814,286
= 570,000
< 122,500
Al 121,786
01 A& HI 809,509 0 809,509
o302 at== &X 809,509, 000& 809,509
= 566,360
= 121,363
Al 121,786
03 Al S THHI 4,777 0 4,777
o7 git= ot== &X 4,777,000 4,777
= 3,640
< 1,137
SS9 Xl 2 Zel(ZAE HWS-AES) 5,324,286 3,086,000 2,238,286
= 3,727,000
Al 1,597,286
401 Al HI R 201 I 5,324,286 3,086,000 2,238,286
= 3,727,000
Al 1,597,286
01 A& HI 5,310,286 2,278,000 3,032,286
OANEE SH2ACUXNG A== HSAE
5,310,286,000& 5,310,286
= 3,717,200
Al 1,593,086
03 Al 2 THHI 14,000 8,000 6,000
OANEE SH2A2UXNG TAE= HEAE
14,000, 000& 14,000
= 9,800
Al 4,200
MEBIot=X2Ad 54 2,600,000 715,000 1,885,000
= 1,820,000
< 391,000
Al 389,000
401 Al HI K 201 I 2,600,000 715,000 1,885,000
= 1,820,000
< 391,000
Al 389,000
01 A& 8l 2,425,000 715,000 1,710,000
OMBZSIot=XelAE LAY
2,425,000,000& 2,425,000
= 1,697,500
S 363,750
Al 363,750
02 Zeltl 170,000 0 170,000
OANESIot+=HelAE SEAY
170,000, 000& 170,000
= 119,000




SN ST AY A
3 BAIZAY 2R (BBEBS/M0E - +E)
el BEIIEAIL AL (S5 &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 26,500
Al 24,500
03 Al 2 THHI 5,000 0 5,000
OANESZot=HelAlE SEAYE 5,000,000 5,000
= 3,500
< 750
Al 750
BFI=A4E 29 1,461,698 1,965,430 A 503,732
FEHMeAE S22 497,036 498,000 A 964
201 Let2d] 20,000 20,000 0
02 =224l 20,000 20,000 0
O A& ZEHlS X bl 20,000,000& 20,000
307 21201 A 237,036 228,000 9,036
05 BIZERIE 3 237,036 228,000 9,036
ONMFEEZELXelAL QIIRE 23|
237,036,000 237,036
401 AIEHI L 2 CHYI 240,000 250,000 A 10,000
01 A& HI 240,000 250,000 210,000
OMFEZEnXMCANLE EESSE M2 AS
At 240,000,000 240,000
IE2aI33AME 23 933,776 1,009, 520 ANT5,744
201 et 190,000 259,520 269,520
01 At 22l 5,000 5,120 A 120
ONERRzAN EAM 442
2,000,000& 2,000
OXIE HIAMTEG A 442
3,000,000& 3,000
02 2324l 185,000 254,400 269,400
O0z22= & HA 132,000, 000& 132,000
O A& ZHI S X 53,000
CcQEXMIAA SILFIN(MUIS) 2LHE
5,000,000& 5,000
o 1,284 =2cJ ool & wH
30,000, 000& 30,000
ocQZEXMelAlE PLC WA 18,000, 000& 18,000
207 A RO 50,000 0 50,000
01 g8 50,000 0 50,000
ONEE=ESHAE J=sat
50,000, 000& 50,000
307 21201 A 618,776 600,000 18,776
05 BIZHRIE 3 618,776 600,000 18,776
ON=EEa3S3XAL RIZtRIE 2|
618,776,000& 618,776
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HI: SFIZANL 22 (BHHYES/MGILET - 7))
el BRI ZAL 29 EERE=E))
. _ _ 4 L
S E B (3H) - MBAY - BES O Ak o8 ﬁ}lgﬁ HD=2
401 AlEH 2 20HY| 75,000 140,000 A 65,000
01 A& 75,000 140,000 A65,000
OLEMEIAA MALMI QHE L HS2t0|
E i 35,000,000 35,000
O H=D| Sensor & Assemble 1l X
40,000,000 40,000
SHHEINZANLRY 30,886 31,910 A1,024
201 et | 27,886 28,910 A1,024
01 At 22l 3,500 3,500 0
ORY,0l2ol2HaAE 2TAA 242
1,500,000 1,500
ORY,0l26laHaAL 22E ADE g
2,000,000 2,000
02 Z229H| 24,386 25,410 A1,004
ozze=2 2 HA 16,800
oY DIZoEHMRAALE SHMe2
2,400,000 2,400
oY DTt HM2AAAE S T - 28t
By 14,400,000 14,400
O A& = HI S X 7,586
oRY DIZOIES ®J| - MOH=LH SN2
2l 2,700,000 2,700
ocRY DIZOIS +SHI - J|HA&H S
2l 4,886,000 4,886
206 M 24l 3,000 3,000 0
01 e 3,000 3,000 0
O2Y,0t25taHMelAlE staHeldE po
1,000,000 1,000
OR% , 0t=sl2HaAAE =82 2
2,000,000 2,000
BAIZAL 22 1,205,512 1,583,450 A377,938
OtSst& = 800,000 975,000 A 175,000
401 AlEH 220 800,000 975,000 A 175,000
01 Al&HI 800,000 975,000 A 175,000
08t+E 21224 100,000,000 100,000
Odt+T =4 70,000,000 70,000
OZFEHEMRIAA HES 80,000,000 80,000
O=HE A2 65,000,000 65,000
OE=A Bla22 244 N
55,000,000 55,000
OZEZTH 222 2¢ 60,000,000 60,000
OAZMNS 62T FUIAY AALH 29
30,000,000 30,000
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ot == A
HE: #FIEAL B (BALE/MOLE - 2F)
S SFIEAE 22 (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OANENEXNZEE F 2472 ot=% FHISM
30,000,000& 30,000
OS82 +4AIE dt=% FHIZS A 50,000,000 50,000
©2019E AtE Al St=22 I3z Y
100,000, 000& 100,000
OAMEAl St=22 GISDB REEH
50,000,000& 50,000
oOd2ds LHERX ot== HHIAY
30,000, 000& 30,000
oOd2ds UOIS ot=22 XA
30,000, 000& 30,000
O8Z 2AHCX ct+2t2 HHIAY
50,000,000& 50,000
A2 E 3ol Al L2t 405,512 408,450 N2,938
101 124 dl 5,490 5,000 490
4 D12t Z2XEES 5,490 5,000 490
OLHEEIot=HMlAE 2% & &#3FH o
£ S 5,490,000 5,490
201 Lt 200,022 170,450 29,572
01 At 22l 31,602 5,050 26,552
O el 30,102
CANRTBHLHEAL 2BAA 242
3,402,000 3,402
CAARSEorHeAMNE 228 ARE
& 2,700,000 2,700
oAARBBotHElAIE A8 AX(ZAMXA
o) 24,000,000 24,000
o=l 1,500
CEHEDRT Xol= Xes o
1,500,000 1,500
02 =224l 168,420 165,400 3,020
02223 % HA 125,420
cAREIEIo=HUANE HIIRS
101,820, 000& 101,820
cAREIEIZo=HUANE SHRS
20,000,000& 20,000
cARRI3o=HelAld Xl =& 28t
=2 3,600,000& 3,600
O A& &EHl s Xl 43,000
oX™Il - MOHAHASLEH sX2el
18,000, 000& 18,000
ox=THI - JHLH sX2el
18,000, 000& 18,000
oXtEdH ¥ RFU 7,000,000& 7,000
206 = Hl 10,000 20,000 A 10,000
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Ha: SBI AL 22 (BHBES/MGEE - =)
el BAIEAL 22l EERED
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
01 & bl 10,000 20,000 A 10,000
OAHI2Z2Z20tEXelAE StE=HeSE 2
2,000,000 2,000
OAAAR2 Z220l=XeAE =&8lg 2
8,000,000 8,000
401 Al HI L 2 0HHI 190,000 213,000 A 23,000
01 A& HI 190,000 213,000 A 23,000
OALARDE223TKXH2AIE ESZA
40,000,000& 40,000
OALAR2E2238t=KXM2lAlE PLCA
40,000,000& 40,000
OA2RAI2BSot=HeAIE IR =2
26,000,000& 26,000
O2RZ20ISdt=HeAIE SHEBEZEY Z)|X
o o2 Wi 16,000,000& 16,000
O=Z X A& AX 20,000,000& 20,000
OALAZS30+XH2AIE DHZLEES HAeF
0 EX(s%, 72) 4,000,000& x12AH 48,000
MHEPES (SIS AMEA) (BB ES /Mot E - =2) 3,747,000 3,247,000 500,000
WEHAH XK= 3,747,000 3,247,000 500,000
S-S EE3H ME3 3,747,000 3,247,000 500,000
701 JIEIS HSHEZ 3,747,000 3,247,000 500,000
03 BIILELEIIAHAMNEBEES 3,747,000 3,247,000 500,000
Oot==SE3H N2 EZ  3,747,000,000& 3,747,000
HEMSHAAY| (Gt AFH ) (DIEH/ DIE) 129,205 124,468 4,737
ol 2| 129,205 124,468 4,737
ol 2A | 129,205 124,468 4,737
101 @124 129,205 124,468 4,737
03 I HLZ2ZZAHE 129,205 124,468 4,737
(O =S | 129,205
oJlEa2 2,097 5543 x2H < 12& 50,342
ol 2,257,554 3 %2 x50%*4 3| 9,031
odILGE 2,257,554 3 x2H x50%*23| 4,516
oSagesy 90,0008 2% * 122 2,160
oXNAEHALE 70,000& x2H x12& 1,680
cIIExE 2,880
— Xt 40,000& x2H x12& 960
-HE(EMRAY) 60,000& x1H x12& 720
-HIS(AMAE) 100,000& *x1H x12& 1,200
cHIF=RIIaY 79,913& 2% »24 3,836
ocs5dZ2REY 100,000& * 1 %117 11,700
oANZHA2ELE 14,9843 x2H x4 Al 2+ %60 7,193
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ol 29|

SN FH-SA(EN) - MBAY - BES

Off &t 24
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i
2m

oM el 2,257 5543 »2H x50%*53]
o HE S Oty| 2,257 ,5543 »2H x60%*22
cOtAZR(EA )= 100,000& 2 122
oIl = 4| 400,000& »2H 23]
oz ¥ 2EE 112,921,000 *13%
o8¢ 20,0003 x2H » 12

11,288
5,419
2,400
1,600

14,680
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